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e [here arethree mainfactors that limit the rate of photosynthesis:
o Temperature

o Lightintensity

o Carbondioxide concentration




ENZYMES BEGIN TO
DENATURATE,
RATE DECREASES




THE GRAPH LEVELS OFF,
THE RATE BECOMES CONSTANT

AT LOWER LIGHT INTENSITIES,

° THE INCREASE IN THE RATE IS
LINEAR

LIGHT INTENSITY (%)
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CARBON DIOXIDE CONCENTRATION (X)
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he number of chloroplasts (or amount of chlorophyll they contain) can be affected by:
vO Diseases (suchastgpacco
o Lackof nutrients (such as magnesium)

0 Loss of leaves (fewer leaves means fewer chloroplasts)
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Figure. | shows the effect of several different factors on the growth of strawberry plantsin a

greenhouse.
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Figure. |

'Oow temperature and light intensity affected the rate of photosynthesis

ldentify the limiting factor(s) betweenpoint Xand Y in Fig. 1.

Explain why light intensity is no longer limiting the rate of photosynthesis at temperatures
higherthan 30°C.
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